Annual Reports of the **Town Officers** of the town of Barrington X For the Fiscal Year Ending December 31 1951

195

University of New Hampshire Library

Annual Reports

of the Town Officers

of the town of

Barrington

For the Fiscal Year Ending December 31

# 1951

PAGE PRINTING CC. DOVER, N. H. 1952



#### TOWN OFFICERS

Moderator GEORGE T. McDANIEL

Selectmen

HAROLD R. TAYLOR WILLIAM A. HALEY HAROLD E. FLOWER

Town Clerk

PAULINE W. HAYES

Treasurer

KATHERINE HENDERSON

Tax Collector

HAZEL S. ROWELL

Supervisors

ROLAND BUMFORD ARDELLA LOWRY CASSIE HALEY

School Moderator

HARLAN CALEF MARY C. DREW DOR

DOROTHY B. BERRY

School Clerk

BERTHA ROSS

School Treasurer

JANET VARNEY

Auditors

IRENE CALEF

HAROLD FLOWER

BERTHA ROSS

# WARRANT FOR TOWN MEETING TOWN OF BARRINGTON March 11, 1952

To the Inhabitants of the Town of Barrington, County of Strafford and State of New Hampshire, qualified to vote in town affairs:—

You are hereby notified to meet at the Town Hall in said Barrington on Tuesday the 11th of March A.D. 1952 at 10 o'clock in the forenoon to act upon the following articles.

Article 1. To choose by ballot and major vote One Selectman for three years, Town Clerk, Treasurer, Collector of Taxes and two auditors for the ensuing year.

Article 2. To choose all other necessary town officers.

Article 3. To raise such sums of money as are necessary for the support of the town poor, and other town charges.

Article 4. To raise State and County taxes.

Article 5. To see what sums of money the town will raise for maintenance of town roads and bridges.

Article 6. To see if the town will raise the sum of \$906.33, the state's share \$6,042.19 for T.R.A.

Article 7. To see if the town will raise \$1,000.00 for the completion of the Waterhouse Road.

Article 8. To see if the town will raise \$400.00 for the Pine Blister Rust.

Article 9. To see if the town will raise \$100.00 for Memorial Day. Article 10. To see if the town will authorize the selectmen to borrow \$5,000.00 in anticipation of taxes.

Article 11. To see if the town will raise \$121.00 for the Lake Region.

.

#### TOWN BUDGET FOR THE YEAR 1952

Estimates of Revenue and Expenditures for the Ensuing Year, January 1, 1952 to December 31, 1952, compared with Estimated and Actual Revenue, Appropriations and Expenditures of the Previous Year January 1, 1951 to December 31, 1951.

From State:	Estimated Revenue Previous Year 1951	Actual Revenue Previous Year 1951	Estimated Revenue Ensuing Year 1952
Interest and dividends tax §	1.378.42	\$ 1,723,28	\$ 1.723.28
Railroad tax	96.93	97.56	97.56
Savings Bank tax	156.52	127.54	127.54
Reimbursement acct, exemp- of growing wood & timber Class V	1,606.00	$4,\!480.49$ 538.70	1,375.41 1,277.10
From Local Sources Except T	axes:		
Int. rec'd on taxes, deposits	152.67	135.08	135.08
Motor vehicle permit fees.	2,000.00	$2,\!383.45$	2,383.15

#### SOURCES OF REVENUE

#### PURPOSES OF EXPENDITURES

#### Current Maintenance Expenses: General Government

		Appropri- ations Previous Year 1951		Actual Expend. Previous Year 1951		Estimated Expend. Ensuing Year 1952
Town officers' salaries	S	1,600.00 *850.00	S	1.286.10 722.71	S	1,600.00 800.00
Expenses town hall and other				t dat das . F 1		000.00
town buildings		150.00		99.51		150.00
Election & registration exp.		100.00		61.80		225.00

Protection of Persons and Property:

Police Department			25.00
Fire Department	700.00	464.80	
Bounties		1.25	

Health:	Appropri- ations Previous Year 1951	Actual Expend, Previous Year 1951	Estimated Expend. Ensuing Year 1952
Health Department Vital statistics	$25.00 \\ 35.00$	$11.50 \\ 33.50$	$\begin{array}{c} 25.00\\ 35.00 \end{array}$
Highways and Bridges:			
Town maintenance, summer. Town maintenance, winter. Town road aid	4,000.00 2,000.00 906.47	4,957.43 1,850.76 906.47	4,000.00 2,000.00 906.33
Libraries:			
Libraries	100.00	100.00	100.00
Public Welfare:			
Town poor Old age assistance	800.00 1,000.00	$24.00 \\ 1.327.82$	500.00 1.500.00
Patriotic Purposes:			
Memorial Day & vet. assn Aid to soldiers & their fam.	100.00	100.00 69.82	100.00
Highways and Bridges:			
Class V	538.70	656.80	1.277.10
share			1,000.00
Payments to Other Governmental Divsions:			
County taxes	3,600.28 30,862.92	3,690.28 30,862.92	3.690.28 \$43.653.56
Total expenditures	8 47,458.37	\$ 47.227.47	

# INVENTORY of the TOWN OF BARRINGTON 1951

Land and buildings	\$1,127,025.00
Growing wood and timber	
Electric plants, wires, poles, water rights	81,821.00
Horses 26	$2,\!225.00$
Cows 144	17,000.00
Neat stock 2	150.00
Sheep and goats 29	550.00
Fowls 3,340	3,340.00
Portable mills, road machinery 6	7,500.00
Wood and lumber	39,775.00
Gasoline pumps and tanks	$2,\!650.00$
Stock in trade	13,295.00
Aqueducts	6,600.00
	\$1,295,331.00
Less Soldier's and Blind Exemptions	57,975.00
Total valuation for tax rate	\$1,237,356.00
Poll taxes, 382 at \$2.00	684.00
National bank stock taxes	16.00
Property taxes	48,328.19
Tax rate per one hundred of valuation	
for all purposes	3.34

#### FINANCIAL REPORT

\_\_\_\_

#### ASSETS

Cash on hand January 1, 1952	\$ $4,\!153.14$
Overpayment School Board 1951-52 budget	2,137.08
Govt. Bond, Series F.	417.50
Unredeemed taxes	717.51
Uncollected taxes, (1951 property and polls)	8,503.84
Uncollected Head taxes	280.00

LIABILITIES

Due Memorial Building fund	\$ 1,000.00
Due State Head Taxes	$2,\!454.50$
Due State Yield tax acct.	330.30
	\$ 3,784.80
Assets over liabilities	\$ 8,424.27

#### RECEIPTS FOR 1951

1951 property taxes	\$ 33,787.96
1951 poll taxes	570.00
Interest and dividend taxes	1,723.28
Class V	538.70
Savings bank tax	127.54
Railroad tax	97.56
Property and poll taxes, previous years	9,517.82
Dog licenses	103.00
Interest	135.08
Timber yield taxes	5,280.49
Forest fire rebate .	46.28

\$ 12,209.07

Head taxes Motor vehicle taxes		2,174.50 2,383.45
Miscellaneous:		2,000120
Mortgage search on previous year	's tax lists	8.00
Plowing driveways:		
Frank Buczek	10.00	
Louis Puni	10.00	
George McDaniel	10.00	
Bernard Smith	10.00	
Mary Drew	10.00	
Frank Buczek	10.00	
Winfield Varney	10.00	
-		70.00
Filing fees		6.00
Work Compensation rebate		107.95
National bank stock tax		16.75
Gravel, Douglas Stevenson		8.00
	-	56 702 36

#### \$ 56,702.36

#### TOTAL PAYMENTS FOR 1951

Town officers' salaries	\$ 1,286.10
Town officers' expenses	722.71
Election and registration	61.80
Town Hall	99.51
Fire	464.80
Bounties	1.25
Health Dept.	11.50
Vital statistics	33.50
Highway Dept.	
Class V	656.80
Summer	4,957.43
Winter	1,850.76
T. R. A.	906.47

Soldier's Aid	69.82
Old age assistance	1,327.82
Town poor	24.00
Memorial Day	100.00
Taxes bought by town	642.52
Strafford County, County tax	3,690.28
School Board	$40,\!874.52$
Tax abatements	49.02
Timber tax deposits	800.64
Library	100.00

\$ 57,731.25

.

### ITEMIZED STATEMENT OF PAYMENTS

#### TOWN OFFICERS' SALARIES

#### Selectmen

Harold R. Taylor		\$	325.00
William A. Haley			300.00
Harold E. Flower			50.00
	Treasurer		•
Katherine Henderson			100.00
	Town Clerk		
Pauline W. Hayes			370.60
	Tax Collector		
Hazel S. Rowell			150.00
	Auditors		
Irene Calef			12.00
Harold Flower			12.00
		-	1 210 00
		\$	1,319.60

#### TOWN OFFICERS' EXPENSES

Tax collector's deeds	s	2.55
Association of N. H. Assessors		2.00
Edson C. Eastman, vital statistics book		20.35
Walter Harding, telephone calls		3.38
Brown & Saltmarsh, selectmen's stamp		3.26
Ethel G. Waldron, reports		.40
Registry of Deeds, reports		24.62
Harold R. Taylor, postage		12.00
U. S. Auto Guide, auto and truck guide		6.00
Edson C. Eastman, dog tags		6.25
Hazel S. Rowell, postage, fees, eard index		10.28
Registry of Deeds, mortgage reports		8.50
Page Printing Co., town reports		448.98
Frank L. Kendall, town officers' bonds		57.50
Edson C. Eatsman, selectmen's exp.		3.25

William A. Haley, postage	5.00
Harold R. Taylor, postage	3.00
N. H. Tax Collectors' Assn. dues	3.00
Page Printing Co., tax bills	11.07
Harold R. Taylor, telephone calls	3.33
Hazel S. Rowell, collector expenses	28.00
Edson C. Eastman, tax collector's books	19.22
Page Printing Co., tax bills	15.12
Harold R. Taylor, postage and telephone calls	4.50
Hazel S. Rowell, postage	9.00
Harold R. Taylor, telephone calls	4.00
Pauline W. Hayes, clerk exp.	7.55

\$ 722.71

#### ELECTION AND REGISTRATION EXPENSES

Benj. Mansfield, moving voting booths Page Printing Co., ballots Ardella Lowry, supervisor Roland Bumford, supervisor Cassie C. Haley, supervisor Robert Parshley, ballot clerk	<i>\$6</i>	$12.00 \\ 6.90 \\ 16.00 \\ 16.00 \\ 4.00 \\ 4.00 \\ 4.00$
	\$	58.90
TOWN HALL EXPENSES		
Lewis L. Smith, wood	s	9.00
Public Service Co., lights		13.31
N. E. Telephone & Telegraph Co., telephone		77.20
	S	99.51
FIRE DEPARTMENT		
Forestry Dept., fire pumps	\$	48.42
Fire at North River Lake		5.40

Woods fire		9.80
Forestry Dept., supplies		33.33
Fire at Dover line		9.10
John Morrison, insurance on trucks		80.00
L. A. Stevens, insurance on men		49.06
Ernest M. Baker, Northwood fire at Scheu's		7.00
Barrington Firemen's Assn., insurance on men		21.00
Rowell & Watson, fuel		56.51
Public Service, lights		38.18
New England Tel. & Tel. Co., telephone		107.00
	\$	464.80
BOUNTIES		
Roger Neal	\$	<b>1.2</b> 5
HEALTH DEPARTMENT		
Harold Flower, services	s	11.50
	*	1100
VITAL STATISTICS		
Pauline W. Hayes, town clerk	S	33.50
radine W. Hayes, town etch	¢#.	00.00
LIBRARY		
Barrington Library Association	\$	100.00
TOWN POOR		
Dr. McGregor, Elliott case	S	24.00
OLD AGE ASSISTANCE		
State of New Hampshire	S	1,327.82
Really of them transponde	4	1.0 . I.O.

Town of Barrington		15
MEMORIAL DAY		
Veterans of Foreign Wars	s	100.00
TAXES BOUGHT BY TOWN		
Taxes bought by town	Ş	642.52
ABATEMENTS		
Cassie Haley Jeanette L. Ferrick Sarah Cummings Pearl H. Shaw	ŝ	$23.40 \\ 15.60 \\ 6.68 \\ 3.34$
	s	49.02
T. R. A.		
State of New Hampshire	S	906.47
YIELD TAXES		
Deposits paid to Tax Collector	Ś	800.64
COUNTY TAX County of Strafford	\$	3,690.28
SCHOOL BOARD		
1950-51 budget 1951-52 budget	\$	7,874.52 33,000.00

#### SUMMARY OF HIGHWAY DEPT.

SUMMER MAINTENANCE

Frank L. Kendall Agency, Workmen's Compensation \$

143.64

Spring Gravel

Green Hill, Hall, Flowage, W. Berry, Roads

Calvin Swain and Truck at \$3.10 per hr.

Mar. 15, 4 hrs.
Mar. 16, 8 hrs.
Mar. 19, 8 hrs.
Mar. 21, 7 hrs.
Mar. 22, 4 hrs.
Mar. 24, 4 hrs.

W. S. Swain at .80

Mar. 15-24, 35 hrs.

28.00

108.50

Calvin Swain and Truck at \$3.10

 April
 4, 5
 hrs.

 April
 5, 6
 hrs.

 April
 6, 4
 hrs.

 April
 12, 3
 hrs.

 April
 14, 4
 hrs.

 April
 24, 3
 hrs.

 May
 2, 3
 hrs.

W. S. Swain at .90

April 4-May 3, 28 hrs.

22.40

TOWN OF	BARRINGTON
---------	------------

Robert Watson

164 yds. gravel loaded at .3049.20Ralph Swain and TruckSchool house, Drew Roads18.60

April 23

Mud holes graveled on Faist, Berry Warren, Flowage,

France Roads

Thomas Saulnier, 8 hrs. at 3.70	29.60
Lloyd Saulnier, 8 hrs. at 3.70	29.60
Irving Gray, 8 hrs. at 3.70	29.60
Ralph Swain, $5\frac{1}{2}$ hrs. at 3.70	20.35
Patterson Brothers, $6\frac{1}{2}$ hrs. at 3.70	24.05
Patterson Brothers, 5 hrs. at 3.10	15.50
Chester Bickford, 5 hrs. at 3.10	15.50
Harold Stiles, 6 hrs. at 3.10	18.60

#### Grader: Norman J. Berry

April	21,	Grader, Berry Rd., 4 hrs. at 3.50	14.00
April	23,	Shovel, 9 hrs. at 6.00	54.00
April	23,	Berry F-8, 7 hrs. at 3.70	25.90
April	23,	Grader, Pond Hill, 5 hrs. at 3.50	17.50
April	24,	Grader, First Crown Pt., 8 hrs. at 3.50	28.00
April	25,	Grader, Pond Hill, 3 hrs. at 3.50	10.50
April	26,	Grader, Stiles Road, 3 hrs. at 3.50	10.50
April	27,	Grader, Stiles Road, 4 hrs. at 3.50	14.00
April	27,	Grader, Pond Hill, 4 hrs. at 3.50	14.00
April	28,	Grader, Stiles Road, 8 hrs. at 3.50	28.00
April	30,	Grader, Green Hill, 8 hrs. at 3.50	28.00

\$ 244.40

#### Grader

May 1, Hansonville, 4 hrs. at 3.50	14.00
May 1, Mary Brewster, 4 hrs. at 3.50	14.00
May 2, Smoke Street, 8 hrs. at 3.50	28.00
May 3, Smoke Street, 7 hrs. at 3.50	24.50
May 3, Smithtown, 1 hr. at 3.50	3.50
May 4, Smithtown, 8 hrs. at 3.50	28.00
May 5, W. Blaisdell, 4 hrs. at 3.50	14.00
May 5, Underpass, 4 hrs. at 3.50	14.00
May 7, Lily Pond and Rowell, 8 hrs. at 3.50	28.00
May 8, Rowell, 4 hrs. at 3.50	14.00
May 8, Mt. Misery, 4 hrs. at 3.50	14.00
May 9, Waterhouse, 3 hrs. at 3.50	10.50
May 9, Berry, 4 hrs. at 3.50	14.00
May 10, Berry, 4 hrs. at 3.50	14.00
May 10, Fred Stone, 4 hrs. at 3.50	14.00
May 14, Fred Stone, 5 hrs. at 3.50	17.50
May 14, Flynn, 3 hrs. at 3.50	10.50
May 15, Flynn and Ploude, 8 hrs. at 3.50	28.00
May 16. Flynn, Pierce, W. Berry, 8 hrs. at 3.5	0 28.00
May 17, Pierce, Lee Oak, Warren, 4 hrs. at 3.	50 14.00
May 17, Hall Road, 4 hrs. at 3.50	14.00
May 18, Hall Road, 8 hrs. at 3.50	28.00
May 19, Hall Road, 8 hrs. at 3.50	28.00
May 21, Olive Hall, 21/2 hrs. at 3.50	8.75
May 21, Ramsdell, Lelonde, Wildcat, 5½ hrs.	at
3.50	19.25
May 22, Wildcat, 4 hrs. at 3.50	14.00
May 22, Young Road, 4 hrs. at 3.50	14.00
May 23, Al Wood, 8 hrs. at 3.50	28.00
May 25, Young, 4 hrs. at 3.50	14.00
May 25, France, 4 hrs. at 3.50	14.00
May 26, France, 6 lns. at 3.50	21.00
May 26, Bumfaggan, 2 hrs. at 3.50	7.00

\$ 556.50

κ.

May	28, Grader, culvert, France Rd. 1 hr. at 3.50	3.50
May	28, Bumfaggan, 7 hrs. at 3.50	24.50
May	29, West Barrington, 8 hrs. at 3.50	28.00
May	31, West Barrington, 4 hrs. at 3.50	14.00
June	1, Nottingham Rd., 3 hrs. at 3.50	10.50
June	1, Maloney Road, 2 hrs. at 3.50	7.00
June	2, Maloney & France Rds., 4 hrs. at 3.50	14.00
June	2, Leather City Rd., 3 hrs. at 3.50	10.50
June	2, Mt. Misery, 1 hr. at 3.50	3.50
June	4, Mt. Misery, 5 hrs. at 3.50	17.50
June	5, Mt. Misery, 8 hrs. at 3.50	28.00
June	6, Mt. Misery, 6 hrs. at 3.50	21.00
June	6, Seavey Road, 2 hrs. at 3.50	7.00
June	7, Seavey Road, 5 hrs. at 3.50	17.50
June	7, Pond Road, Ayers, 3 hrs. at 3.50	10.50
June	8, Pond Road, Ayers, 2 hrs. at 3.50	7.00

\$ 224.00

#### Blasting Rocks in Town Roads

July	25,	Compressor, 3 hrs. at 4.50	13.50
July	25,	2 men each, $5$ hrs. at .90	9.00
July	25,	Gravel from Allen, 3 yds. at .50	1.50
July	25,	Berry F-8, 5 hrs. at 3.70	18.50
July	25,	Blasting caps, 8 hrs. at .15	1.20
July	25,	Dynamite, 4 hrs. at .17	.68

\$ 44.38

#### Grader

Sept.	25,	Tsin Road, 7 hrs at 4.00	28.00
Sept.	26,	Normandy Road, 8 hrs. at 4.00	32.00
Sept.	27,	Green Hill, 8 hrs at 4.00	32.00
Sept.	28,	Stiles Road, 8 hrs. at 4.00	32.00
Oct.	1,	Green Hill, 8 hrs. at 4.00	32.00

TOWN OF BARRINGTON

Oct.	2, Davis Hill, 8 hrs. at 4.00		32.00
Oct.	3, Smithtown, 8 hrs. at 4.00		32.00
Oct.	4, Underpass, 8 hrs. at 4.00		32.00
		s	252.00
Oct.	4, Total in account	\$	296.38
Oct.	5, Smithtown, 8 hrs. at 4.00		32.00
Oct.	6, Underpass, 5 hrs. at 4.00		20.00
Oct.	8, Madbury Road, 4 hrs. at 4.00		16.00
Oct.	8, France Road, 4 hrs. at 4.00		16.00
Oct.	9, Hall Road, 8 hrs. at 4.00		32.00
Oct.	10, Hall Road, 8 hrs. at 4.00		32.00
Oct.	11, Hall Road, 2½ hrs. at 4.00		10.00
Oct.	12, Hall Road, 6½ hrs at 4.00		26.00
Oct.	12, Winkley Road, 1½ hrs. at 4.00		6.00
Oct.	13, Warren Berry Road, 5 hrs. at 4.00		20.00
	13, Davis Hill, 1 hr. at 4.00		4.00
Oct.	13, Underpass, 2 hrs. at 4.00		8.00
Oct.	15, Hansonville, 8 hrs. at 4.00		32.00
	16, Hansonville, 4 hrs. at 4.00		16.00
	16, Turtle Pond Road, 4 hrs. at 4.00		16.00
	17, Turtle Pond Road, 8 hrs. at 4.00		32.00
	18, Turtle Pond Road, 8 hrs. at 4.00		32.00
	19, Rowell Road, 2½ hrs. at 4.00		10.00
	19, Waterhouse Road, 3½ hrs. at 4.00		14.00
	19, Mt. Misery, 2 hrs. at 4.00		8.00
	20, Mt. Misery, 7 hrs. at 4.00		28.00
	20, West Barrington, 1 hr. at 4.00		4.00
	22, West Barrington, 8 hrs. at 4.00		32.00
	23, Nottingham Road, 2 hrs. at 4.00		8.00
	23, Ambrose Road, 3 hrs. at 4.00		12.00
	23, Arlin Road, 3 hrs. at 4.00		12.00
	25, Stone Road, 8 hrs. at 4.00		32.00
	26, Gonic Road, 8 hrs. at 4.00		32.00

\$ 542.00

#### Grader

Oct. 31. Plourde Road, 4 hrs. at 4.00 Nov. 5, Plourde Road, 2 hrs. at 4.00		16.00 8.00	
Robert Parshley at .80 with grader:	\$	24.00	
April 23-May 29, 220 hrs. May 31-June 8, 50 hrs.		$\begin{array}{c} 176.00\\ 40.00 \end{array}$	
Robert Parshley at .90 with grader:			
Sept. 25-Oct. 26, 201 hrs.		180.90	

Patching Beauty Hill, Young and Mt. Misery

Thomas Saulnier, sweeping, 10 hrs. at 4.00	40.00
Town of Northwood, 12 yds. cold patch at 5.00	60.00
Town of Northwood, truck and men	17.20
Arnold Fall, 3 hrs. at .80	2.40

#### Gravel on Davis Hill and Flowage Roads

Thomas Saulnier Loading Gravel:

Sept. 20-21, 68 yds. at .30 Oct. 4-5, 124 yds. at .30	20.40 37.20
Thomas Saulnier and Truck:	
Sept. 21, 3 hrs. at 3.70 Oct. 5, 4 hrs. at 3.90	$11.10 \\ 15.60$
Ralph Swain and Truck:	
Sept. 20-21, 9 hrs. at 3.70 Oct. 4-5, 8 hrs. at 3.90	33.30 31.20
192 yds. gravel	9.60

#### BRIDGES

Donald C. Keller, 1843 ft. bridge plank 129.	01
--	----

#### Brewster Bridge

#### June 25

W. S. Swain, hauling plank	2.00
W. S. Swain, 4 hrs. at .80	3.20
Calvin Swain, 4 hrs. at .80	3.20
Philip Baxter, 4 hrs. at .80	3.20

#### Critchett Bridge

#### July 18

W. S. Swain, hauling plank	1.50
W. S. Swain, 3 hrs. at .80	2.40
Calvin Swain, 3 hrs. at .80	2.40
Arnold Fall, 3 hrs. at .80	2.40

Berry Bridge

Oct. 20

W. S. Swain, hauling plank	4.00
W. S. Swain, 6 lirs. at .80	4.80
Calvin Swain, 6 hrs. at .80	4.80

Work on Waterhouse, Layne, Stiles, Boodey, Much Adoo, Lake Roads, Scavey Bridge

Harold Flower at .90

Nov. 9	, 10, 12	, 20, 21, 23	$3, 24 - 38\frac{1}{2}$	hrs.	34.65
--------	----------	--------------	-------------------------	------	-------

Robert Drew at .90

Nov. 10-24, 9½ hrs.

8.55

23

Gravel on Gray, Gulf, Layne, Much Adoo, Hill Rds.

Town of Northwood, 5 hrs. at 3.30	16.50
Alberton Berry, $9\frac{1}{2}$ hrs. at 3.90	37.05
Lloyd Saulnier, 6 hrs at 3.90	23.40
Ralph Swain, 4 hrs. at 3.90	15.60
Thomas Saulnier, 25 hrs. at 3.90	97.50

#### Gravel put on Underpass, Hall, Wm. Ramsdell, Al. Wood Roads, Dec. 5 and 6

Thomas Saulnier, 1315 hrs. at 3.90	52.65
Robert Huckins, 11 hrs. at 3.90	42.90
Patterson Bros. No. 1, 15 hrs. at 3.90	58.50
Patterson Bros. No. 2, 15 hrs. at 3.90	58.50
Irving Gray, 15 hrs. at 3.90	58.50
Harold Stiles, 9 hrs. at 3.30	2970
Alberton Berry No. 1, 8 hrs. at 3.30	26.40
Alberton Berry No 2, 11 hrs. at 3.90	42.90
Ralph Swain, 15 hrs. at 3.90	58.50
Town of Northwood, $6\frac{1}{2}$ hrs. at 3.30	21.45
Roy Smith, 20 hrs. at .90	18.00
Roy Smith, use of chain saw	2.00
Ralph Swain, 1200 yds. gravel	120.00
Dec. 4, Shovel moving R. Swain bank, 2 hrs.	
at 8.00	16.00
Dec. 5, Shovel, 8 hrs. at 8.00	64.00
Dec. 5, F-8, 8 hrs. at 3.90	31.20
Dec. 5, Grader, 8 hrs. at 4.00	32.00
Dec. 6, Shovel, 8 hrs. at 8.00	64.00
Dec. 6, F-8, 8 hrs. at 3.90	31.20

Dec.	6, Grader, 8 hrs. at 4.00	32.00
Dec.	7, Grader, 6 hrs. at 4.00	24.00
		\$ 294.00

#### Gravel, H. H. Taylor

Dec. 24, Gravel loaded, 9 yds. at 50c Dec. 24, F-8, hauling & spreading, 4 hrs. at 3.90	$4.50 \\ 15.60$
\$	20.10

#### CLASS V MONEY EXPENDED

France Road, Oct. 27

Harold Stiles, 9 hrs. at 3.30	29.70
Alberton Berry, 9 hrs. at 3.30	29.70
Maurice Caswell, 9 hrs. at 3.30	29.70
Town of Northwood, 9 hrs. at 3.30	29.70
Ralph Swain, 9 hrs. at 3.90	35.10
Lloyd Saulnier, 9 hrs. at 4.50	40.50
Thomas Saulnier, 9 hrs. at 4.50	40.50
Irving Gray, $7\frac{1}{2}$ hrs. at 3.90	29.25
Ralph Swain, 644 yds. gravel	64.40
Norman J. Berry, shovel, 9 hrs. at 8.00	72.00
Norman J. Berry, truck, 4 hrs. at 3.70	14.80
Norman J. Berry, grader, 9 hrs. at 4.00	36.00
Robert Parshley, 9 lirs. at .90	8.10
W. A. Haley:	
March 22, 3 hrs. with grader at .80	2.40
April 23, 8 hrs on gravel at .80	6.40
May 24, 4 hrs. with Highway Dept.	3.20
June 15, 4 hrs. with Highway Dept.	3.20

Harold R. Taylor:

April 23, 8 hrs. on gravel at .80	6.40
May 24, 4 hrs. with Highway Dept. at .80	3.20
June 15, 4 hrs. with Highway Dept. at .80	3.20
Oct. 27, 8 hrs. on gravel at .90	8.10
Dec. 6, 8 hrs. on gravel at .90	8.10

W. W. Berry:

Dec. 6, 2 hrs. at .90

1.80

.

#### SPRAYING BUSHES

Beauty Hill, Mt. Misery. Hall, France, Smithtown, Green Hill, Flowage, Al. Wood Roads

W. H. Nehring:

$9\frac{1}{2}$ tanks of spray at 55.00 per tank	525.00
$\frac{1}{2}$ tank around school house	25.00

\$ 550.00

39 miles of roadside sprayed.

Average cost per mile, \$13.50 (one side of road)

#### HIGHWAY DEPT. EXPENSES

#### WINTER

Ralph Swain:

Dec. 31, 1950, 4 hrs. sanding at .80	3.20
Jan. 16, 1951, 5 hrs. sanding at .80	4.00
Jan. 18, 1951, 6 hrs. with truck, sanding at	
3.10	18.60
Jan. 26, 1951, Welding town plow	2.00
Feb. 27, 1951, 2 hrs. on bridge	1.60

#### W. S. Swain:

Dec. 31, 1950, 3 hrs. sanding	2.40
Jan. 3, 1951, 4 hrs. sanding	3.20
Jan. 4, 1951, 6 hrs. sanding	4.80
Jan. 16, 1951, 7 hrs. sanding	5.60
Jan. 17, 1951, 5 hrs. sanding	4.00
Jan. 18, 1951, 6 lirs. sanding	4.80
Feb. 2, 1951, 9 hrs. sanding	7.20
Feb. 3, 1951, 3 hrs. sanding	2.40
Feb. 9, 1951, 2 hrs. sanding	1.60

#### Calvin Swain, Truck and Plow at 3.10 per hr.:

·	*	
Feb. 1, 13 hrs., plowing		
Feb. 2, 9 hrs. sanding		
Feb. 3, 3 hrs. sanding		
Feb. 9, 2 hrs. sanding		
Feb. 4, 14 hrs. plowing		
Feb. 16, 7 hrs. hauling gravel		
Feb. 25, 3 hrs. sanding		
0	0	104.90
Feb. 27, 2 hrs. sanding	\$	164.30
Richard Brooks at .80 per hr.:		
Feb. 1, 13 hrs.		
Feb. 2, 9 hrs.		
Feb. 3, 3 hrs.		
Feb. 9, 2 hrs.		
Feb. 4, 14 hrs.		
Feb. 16, 7 hrs.	S	38.40
Walter M. Hardy and Truck at 2.	00 per hr.:	
Feb. 1-2, 3 hrs.	6.00	
Feb. 1-2, helper 3 hrs.	2.40	
Feb. 4, 3 hrs.	6.00	
Feb. 4, helper 3 hrs.	2.40	
a co, a, neiper o me.	\$	16.80
	¢	10.00

.

TOWN OF BARRINGTON		27
Brown's Machine Shop:		
Labor and parts on town plow	\$	81.77
Merrimack Farmers' Exchange, road salt	\$	133.50
Calvin Swain and Truck at 3.10:		
Dec. 15, 5 hrs. plowing Dec. 16, 4 hrs. plowing Dec. 17, 4 hrs. plowing Dec. 18, 5 hrs. plowing Dec. 21, 3 hrs. plowing Dec. 24, 4 hrs. plowing		
Dec. 26, 12 hrs. plowing	\$	102.30
Richard Meatty at .90		
Dec. 15-16-17, helper on plow 13 hrs. Dec. 21-24, 7 hrs. salting	Ş	18.00
Richard Swain at .90:		
Dec. 18-26, 17 hrs. helper on plow	\$	15.30
Richard Brooks at .90:		
Dec. 24, 4 hrs. salting	\$	3.60
W. S. Swain at .90		
Nov. 9, 3 hrs., culvert on Hall Rd. Nov. 19, 6 hrs., culvert on Hall Rd. Nov. 21, 5 hrs., culvert on Hall Rd. Nov. 21, 3 hrs., sanding and salting	\$	15.30
Benj. Witherspoon at .90		
Nov. 9, 4 hrs., culvert on Hall Rd. Nov. 19, 5 hrs., culvert on Hall Rd.		
Nov. 21, 3 hrs., culvert on Hall Rd.	\$	10.80
Calvin Swain, oil for snow plow	\$	5.40

Snow fence put up and taken down:

Robt. Parshley,	16 hrs. at .80, 40 hrs. at .90	48.80
Arthur Howard.	16 hrs. at. 80, 40 hrs. at. 90	48.80

#### Norman J. Berry:

Jan. 8, M. H. and helper, snow, 8 hrs. at 5.80	46.40
Jan. 8, Grader, snow, 6 hrs. at 3.50	21.00
Jan. 9, M. H. and helper, snow, 3 hrs. at 5.80	17.40
Jan. 15, M. H. and helper, snow, 8 hrs. at 5.80	46.40
Jan. 15, Grader, snow, 4 hrs. at 3.50	14.00
Jan. 17, F-8, sanding, 2 hrs. at 3.70	7.40
Jan. 17, 2 men each, sanding, 2 hrs. at .80	3.20
Jan. 17, Sand, 5 yds. at .35	1.75
Feb. 1, M. H. and helper, snow, 9 hrs. at 5.80	52.20
Feb. 2, F-8, sanding, 9 hrs. at 3.70	33.30
Feb. 2, 2 men each, sanding, 9 hrs. at .80	14.40
Feb. 2, Sand, 15 yds. at .35	5.25

\$ 262.70

Feb. 4, M. H. and helper, snow, 11 hrs. at 5.80	63.80
Feb. 5, F-8 sanding, 4 hrs. at 3.70	14.80
Feb. 5, 2 men each, 4 hrs. at .80	6.40
Feb. 5, Sand, 5 yds. at .35	1.75

\$ 86.75

Feb. 3. Grader, snow, Lowry, Carter, 3 hrs. at 3.50	10.50
Mar. 2, M. H. and helper, snow, 3 hrs. at 5.00	15.00
Mar. 5. M. H., no helper, snow, 3 hrs. at 5.00	15.00
Mar. 29, Grader, Green Hill, 8 hrs. at 3.50	28.00
Mar. 29, F-8 truck, gravel, 2 hrs. at 3.70	7.40
Mar. 30, Grader, Pond Hill, 4 hrs. at 3.50	14.00

\$ 92.30

28

#### Plowing, sanding, salting, Norman J. Berry

Dec. 31, Total in account \$	718.05
Dec. 31, 1 man. 2 hrs. at .90	1.80
Dec. 31, Pickup sanding, 2 hrs. at 1.70	3.40
Dec. 24, FWD plow, 2 hrs. at 5.20	10.40
Dec. 24, Helper, 11 hrs. at .90	9.90
Dec. 24, F-8 plow, 11 hrs. at 4.20	46.20
\$	331.85
bags at 1.30	15.60
Dec. 22, Salt, Waterhouse and Mt. Misery, 12	
Dec. 22, F-8 getting salt, $1\frac{1}{2}$ hrs. at 3.90	5.85
Dec. 22, 1 man, 2 hrs. at .90	1.80
Dec. 22, M-H plow and salt, 2 hrs. at 5.20	10.40
Dec. 22, Grader, plow, Waterhouse, 3 hrs. at 4.00	12.00
Dec. 21, Grader, plow, Waterhouse, 4 hrs. at 4.00	16.00
Dec. 21, 2 men each, 2 hrs. at .90	3.60
Dec. 21, F-8 sanding, 2 hrs. at 3.90	7.80
Dec. 20, F-8 hauling sand, 4 hrs. at 3.90	15.60
Dec. 20, Stockpiling sand, loaded, 15 yds. at .50	7.50
Dec. 19, Salt, Beauty Hill, 7 bags at 1.30	9.10
at 1.30	10.40
Dec. 19, Salt, Waterhouse and Mt. Misery, 8 bags	0.10
Dec. 19, 2 men each, 3 hrs. at .90	5.40
Dec. 19, F-8 hauling & dist. salt, 4 hrs. at 3.90	$\frac{5.00}{15.60}$
Dec. 19, Helper, 4 hrs. at .90	20.80 3.60
Dec. 17, Helper, 9 hrs. at .90 Dec. 19, M-H plow, 4 hrs. at 5.20	$\frac{8.10}{20.80}$
Dec. 17, M-H plow, 9 hrs. at 5.20	$\begin{array}{c} 46.80\\ 8.10\end{array}$
Dec. 16, Helper, 7 hrs. at .90	6.30
Dec. 16, M-H plow, 7 hrs. at 5.20	36.40
Dec. 15, Helper, 12 hrs. at .90	10.80
Dec. 15, Marmon-Herrington plow, 12 hrs. at 5.20	62.40
D 15 M H ' / 1 10 1 / 500	00.40

#### TOWN CLERK'S REPORT

20 ear permits 1950

537 car permits 1951

43 dog licenses 1951

12 marriage recordings

27 birth recordings

21 death recordings

7 corrections of existing records

Auto tax collected Dog tax collected Filing fees \$ 2,301.65 103.00 6.00

Total \$ 2,410.65

#### PAULINE W. HAYES.

Town Clerk.

#### TAX COLLECTOR'S REPORT

SUMMARY OF WARRANT

Levy of 1951

April 1, 1951 to December 31, 1951

#### Debits

#### Taxes Committed to Collector:

Property taxes, resident	\$ 24,413.18	
Property taxes, non-resident	17.440.54	
Poll taxes	762.00	
Timber Yield Taxes	3,771.77	
Head tax	$2,\!375.00$	
National Bank Stock	16.75	
Total warrant		48,779.24
Added Taxes		
Property, resident	251.17	
Poll taxes	60.00	
Head taxes	100.00	
		411.17
Interest Collected		
Property, resident	.65	
Property, non-resident	1.34	
		1.99
Penalties on Head taxes		9.50
Total debits		49,201.90

#### Credits

Remittances to Treasurer Property, resident \$ 19,188.35

Property, non-resident Poll taxes Timber Yield tax Head tax National Bank Stock Interest collected (as above) Penalties on Head tax	$14,599.61 \\570.00 \\3,318.20 \\2,165.00 \\16.75 \\1.99 \\9.50$	8	39,869.40
Abatements		Ψ	00,000.10
Property, resident Property, non-resident Polls Head tax Timber Yield tax Uncollected taxes as per Collector's List:	99.87 323.35 26.00 30.00 69.44	\$	548.66
Property, resident	\$ 5,376.13 2,517.58 226.00 384.13 280.00		8,783.84
Total credits		\$	49,201.90

#### BALANCE OF 1950 LEVY

#### January 1st, 1951 to April 1st, 1951

#### Credits

#### Uncollected Taxes as of Jan. 1, 1951

Property.	resident	\$ 6,117.99
Property,	non-resident	2,564.03

292.00	
202.00	
341.38	
	9,315.40
9.17	
4.00	
	13.17
66.27	
31.73	
1.38	
4.27	
	103.65
-	9,432.22
	9.17 4.00 66.27 31.73 1.38

33

.

#### Debits

Remittances to Treasurer ·		
Property, resident	6,099.94	
Property, non-resident	2,557.60	
Poll taxes	262.00	
Timber Yield tax	341.38	
Interest collected (as above)	103.65	
	\$	9,364.57
Abatements		
Property, resident	18.05	
Property, non-resident	15.60	
Poll taxes	6.00	
		39.65

Uncollected as per Collector's List		
Poll taxes, 14 at \$2.00		28.00
Total debits .	s	9,432.22

## UNREDEEMED TAXES FROM TAX SALES

Levies of 1948, 1949, 1950

January 1, 1950 to December 31, 1950

#### Debits

Taxes Committed to Collector:

Property, 1948\$	135.33	
Property, 1949	519.94	
Property, 1950	642.52	
––– Poll taxes, 1949	4.00	1,297.79
	28.00	
Poli taxes, 1950	28.00	32.00
Added Taxes		02.00
Poll taxes, 1950		4.00
Interest Collected		
Property, 1948 \$	11.79	
Property, 1949	12.93	
Property, 1950	4.43	
Poll taxes, 1949	.05	
Poll taxes, 1950	.24	
		29.44

### 

### Credits

Remittances to Treasurer

Property, 19488Property, 19499Property, 19509Poll taxes, 19499Poll taxes, 19501Interest collected (as above)1Registrar's fee (as above)1	64.55 185.82 327.91 2.00 18.00 29.44 8.00	÷	635.72
Abatements			
Property, 1948 Poll taxes, 1949	2.00		4.00
Uncollected taxes as per Collector's List			
Property, 1948	68.78		
Property, 1949	334.12		
Property, 1950	314.61		
Poll taxes, 1950	14.00		
		\$	731.51
Total credits		\$	1,371.23

### UNCOLLECTED TAXES

	1950	1949	1948
Clifford and Maud Butler	\$ 50.17		
John Ward Heirs	89.26		
L. Earl Wood	2.23		
Mrs. Harold Preston	90.98		
Harold Preston	45.51	185.05	\$ 26.72
Leonard T. Furlong	4.77		
Mrs. Agnes Smith	31.69		
Eugene Billings		37.59	
Earl Blaisdell		60.21	
Roland M. Jewell		51.27	
Robert Colburn			42.06

I hereby certify that the above list of delinquent tax payers is correct as of Dec. 31, 1951.

### HAZEL S. ROWELL,

Tax Collector.

## TREASURER'S REPORT

### RECEIPTS

Jan. 1	
Balance on hand	\$ 6,182.03
Jan. 20	
Selectmen, fire rebate	2.25
Selectmen, fire rebate	2.50
Jan. 27	
Selectmen, 100,000, Harry Munroe, Wm.	
Ellison lot	150.00
Jan. 31	10.00
Selectmen, 100,000, Melvin Clark	40.00
Feb. 3	
Hazel Rowell, 1950 tax list	$2,\!250.59$
Hazel Rowell, 1950 polls	56.00
Hazel Rowell, 1949 tax list	97.78
Hazel Rowell, 1949 mortgage search	1.00
Hazel Rowell, 1950 interest	14.66
Hazel Rowell, 1948 tax list	64.55
Hazel Rowell, 1948 mortgage search	.50
Hazel Rowell, 1948 interest	11.79
Hazel Rowell, 1949 interest	$5.75 \\ 138.15$
Pauline Hayes, auto tax	6.00
Pauline Hayes, dog tax	0.00
Mar. 3	
Selectmen, Mr. Busick, plowing driveway	10.00
Selectmen, reimbursement on timber tax	51.23
Hazel Rowell, 1950 tax list	4,204.47
Hazel Rowell, 1950 polls	102.00
Hazel Rowell, 1950 interest	51.54
Pauline Hayes, auto tax	441.84

Pauline Hayes, dog tax	7.00
Pauline Hayes, filing fee	6.00
Selectmen, fire rebate	41.53
Selectmen, Donald Keller, timber on Castle	
Rock	195.44
April 7	
Pauline Hayes, auto tax	1,002.29
Pauline Hayes, dog tax	6.00
Hazel Rowell, 1950 tax list	$2,\!202.48$
Hazel Rowell, 1950 polls	104.00
Hazel Rowell, 1950 interest	37.45
Hazel Rowell, 1950 timber yield	341.38
Hazel Rowell, 1949 polls	2.00
Hazel Rowell, 1949 interest	.05
May 5	
Selectmen, Louis Pugni, plowing driveway	10.00
Hazel Rowell, 1950 tax list	62.44
Hazel Rowell, 1950 polls	6.00
Hazel Rowell, 1950 interest	.31
Hazel Rowell, 1950 mortgage search	1.00
Hazel Rowell, 1949 tax list	46.07
Hazel Rowell, 1949 interest	3.68
Hazel Rowell, 1949 mortgage search	.50
Pauline Hayes, auto tax	150.07
Pauline Hayes, dog tax	4.00
June 2	
Hazel Rowell, 1951 timber yield	883.01
Hazel Rowell, 1950 tax list	52.25
Hazel Rowell, 1950 interest	1.06
Hazel Rowell, 1950 mortgage search	.50
Hazel Rowell, 1950 polls	4.00
Selectmen, work compensation	107.95
Pauline Hayes, auto tax	81.33
Pauline Hayes, dog tax	31.00
raame mayee, aog cax	01.00

Town of Barrington	39
Anna d	
Aug. 4 Selectmen, Class V roads	538.70
Selectmen, interest and dividends tax	1,723.28
Pauline Hayes, auto tax	78.62
Pauline Hayes, dog tax	30.00
Pauline Hayes, auto tax	90.71
Pauline Hayes, dog tax	15.00
radine mayes, dog tax	10.00
Sept. 1	
Hazel Rowell, 1950 tax list	<b>69.8</b> 6
Hazel Rowell, 1950 polls	2.00
Hazel Rowell, 1950 mortgage search	2.00
Hazel Rowell, 1950 interest	1.62
Hazel Rowell, 1951 timber yield	81.80
Hazel Rowell, 1949 tax list	37.90
Hazel Rowell, 1949 mortgage search	1.00
Hazel Rowell, 1949 interest	3.16
Pauline Hayes, auto tax	130.48
Pauline Hayes, dog tax	2.00
Oct. 6	
Pauline Hayes, auto tax	101.55
Pauline Hayes, dog tax	2.00
	2.00
Nov. 3	
Pauline Hayes, auto tax	24.28
Hazel Rowell, 1951 polls	22.00
Hazel Rowell, 1951 head tax	195.00
Hazel Rowell, 1951 Natl. bank stock	16.75
Hazel Rowell, 1950 polls	4.00
Hazel Rowell, 1950 tax list	54.63
Hazel Rowell, 1950 mortgage search	.50
Hazel Rowell, 1950 interest	.09
Hazel Rowell, 1949 tax list	4.07
Hazel Rowell, 1949 mortgage search	.50
Hazel Rowell, 1949 interest	.34
Hazel Rowell, 1951 timber yield	832.64

Dec. 1	
Selectmen, gravel for D. Stevenson	8.00
Pauline Hayes, auto tax	26.26
Hazel Rowell, 1951 polls	476.00
Hazel Rowell, 1951 head tax	1,620.00
Hazel Rowell, 1951 tax list	$26,\!412.01$
Hazel Rowell, 1951 timber yield	946.39
Hazel Rowell, 1950 polls	2.00
Hazel Rowell, 1950 tax list	88.73
Hazel Rowell, 1950 mortgage search	.50
Hazel Rowell, 1950 interest	1.59
Selectmen, Geo. McDaniel, plowing driveway	10.00
Selectmen, D. Keller, timber tax, Berry lot	114.10
Selectmen, D. Keller, timber tax, Locke lot	100.00
Selectmen, Bernard Smith, plowing driveway	10.00
Selectmen, Mary Drew, plowing driveway	10.00
Selectmen, Frank Buczek, plowing driveway	10.00
Selectmen, Winfield Varney, plowing driveway	10.00
Selecemen, D. Keller, timber tax, Locke lot	69.30
Selectmen, D. Keller, timber tax, Bunker lot	150.00
Dec. <b>3</b> 1	
Selectmen, Savings bank tax	127.54
Selectmen, Railroad tax	97.56
Hazel Rowell, 1951 polls	72.00
Hazel Rowell, 1951 head tax	350.00
Hazel Rowell, 1951 head tax penalty	9.50
Hazel Rowell, 1951 tax list	7,375.95
Hazel Rowell, 1951 resident interest	.65
Hazel Rowell, 1951 non-resident interest	1.34
Hazel Rowell, 1951 timber yield	1,407.00
Pauline Hayes, auto tax	36.07
Total \$	62,884.39

Jan. 17	
W. S. Swain, part payment on snow plowing	100.00
W. S. Swain, labor sanding	<b>69.3</b> 0
Ralph Swain, labor sanding	3.20
Feb. 3	
W. S. Swain, salting, sanding, and parts for	
plow	61.62
Ralph Swain, salting, sanding, repair work	6.00
Norman J. Berry, snow and sanding	262.70
W. S. Swain, 3 helpers	49.20
Hazel Rowell, deeds, seals, etc.	2.55
Brown's Machine Shop, repairs to snow plow	37.06
Harold Flower, health cases	6.50
Merrimack Farmers' Exchange, road salt	58.00
State of New Hampshire, O.A.A.	118.29
Ralph Swain, sanding	18.60
Feb. 10	0.00
Assn. of N. H. Assessors, dues	2.00
New England Telephone & Telegraph Co.,	10.00
phones at Fire and Town House	16.00
Walter Harding, sanding	16.80
Frank L. Kendall, Workmen's Acc. insurance	143.64
Public Service Co., lights at fire & town house	5.72
Merrimack Farmers' Exchange, road salt	29.00
Norman J. Berry, plowing and sanding	86.75 83.70
W. S. Swain, plowing and sanding	83.70
W. S. Swain, labor sanding	
Richard Brooks, labor sanding and plowing	21.60
Mar. 3	
W. S. Swain, gravel, snow removal	107.00
YD Grocery, Raymond Patch, groceries	29.82
Calef's Store, Raymond Patch, groceries	40.00
Brown's Machine Shop, labor and parts for	
snow plow	44.71

Lewis L. Smith, wood for town house	9.00
State of New Hampshire, O.A.A.	103.40
Edson C. Eastman Co., book for clerk	20.35
Public Service Co., lights	5.88
Donald C. Keller, bridge plank	129.01
Forestry & Recreation Comm., fire pumps	48.42
Tide Water Ass. Oil Co., oil for fire house	24.51
Ralph Swain, hauling gravel	18.60
New England Tel. & Tel. Co., lights	17.35
W. S. Swain, gravel	136.50
Auntil 7	
April 7 Dublic Service Co., lights at five and town house	5.72
Public Service Co., lights at fire and town house Welter Humling telephone colle	
Walter Harding, telephone calls	3.38
Harold Flower, 3 days auditing	12.00
Irene Calef, 3 days auditing	12.00
New Eng. Tel. & Tel. Co., town and fire house	22.60
Brown & Saltmarsh, selectmen's stamps	3.26
Ethel Waldron, real estate reports	.40
Strafford Registry of Deeds, real estate and	24.02
transfer cards	24.62
Harold Taylor, postage	12.60
State of New Hampshire, O.A.A.	120.56
Hazel S. Rowell, prop. taxes bought by town	568.75
Hazel S. Rowell, prop. taxes bought by town	73.77
Benj. Mansfield, moving voting booths	12.00
U. S. Auto & Truck Guide	6.00
Edson C. Eastman, 100 dog tags	6.25
Page Printing Co., town meeting ballots	6.90
Norman J. Berry, snow plowing	92.30
Hazel Rowell, collector's expense	8.28
Strafford Reg. of Deeds, mortgage reports	8.50
Tide Water Ass. Oil Co., fuel for fire house	24.51
Ardella Lowry, 4 days as supervisor	16.00
School Board, balance of school budget	7.874.52

May 5	
Calvin Swain, bridge and gravel	89.90
W. S. Swain, labor	22.40
New Eng. Tel. & Tel. Co., telephones at town	
and fire house	16.45
Page Printing Co., town reports	448.98
State of New Hampshire, O.A.A.	<b>93.0</b> 3
Robert W. Watson, gravel and loading	<b>49.20</b>
Geo. G. McGregor, M.D., Kelly Elliott case	24.00
Frank L. Kendall, officers' bonds	57.50
Edson C. Eastman Co., Inc., supplies	3.25
Public Service Co., lights	6.04
Hazel S. Rowell, exchange of index file	2.00
Roland Bumford, 4 days supervisor	16.00
Cassie C. Haley, 1 day supervisor	4.00
Norman J. Berry, gravel and grader	244.40
Sumner Hayes, fire at N. R. Pond	5.40
Sumner Hayes, woodsfire, W. part of town	9.80
Wm. Haley, grader, gravel, stamps, bounties	14.80
Thomas Saulnier, gravel	29.60
Lloyd Saulnier, gravel	29.60
Irving Gray, gravel	29.60
Ralph Swain, gravel	20.35
Patterson Bros., gravel	39.55
Chester Bickford, gravel	15.50
Harold Stiles, gravel	18.60
Hanson Keliher Post V.F.W., Memorial Day	100.00
June 2	
Robert Parshley, ballot elerk, W-grader	180.00
Norman J. Berry, grader	556.50
Forestry & Recreation Dept., fire supplies	33.33
Summer Hayes, fire at Dover line	9.10
State of New Hampshire, O.A.A.	123.45
New Eng. Tel. & Tel. Co., phones at town and	
fire house	15.45
Pauline Haves, part salary	40.00

Public Service Co., lights at fire & town house	3.51
Cassie Haley, abatement on 1950 tax	23.40
Treas., State of New Hampshire, T.R.A.	906.47
July 7	0.10
Public Service Co., lights	3.10
John Morrison, ins. on Chevrolet fire truck	40.00
State of New Hampshire, O.A.A.	142.05
Robert Parshley, grader, snow fence	52.80
New Eng. Tel. & Tel. Co.	15.00
L. A. Stevens, insurance on firemen	49.06
Edson C. Eastman, collector's supplies	2.90
Ernest M. Baker, fire at Scheu	7.00
Jeannette L. Ferrick, abatement on 1950 tax	15.60
Norman J. Berry, grader	224.00
Arthur Howard, 2 days snow fence	12.80
Aug. 4	
Harold R. Taylor, postage, roads	9.40
State of New Hampshire, O.A.A.	194.96
William A. Haley, bounty, roads	6.65
N. H. Tax Collectors' Ass., dues	3.00
Public Service Co., lights	2.78
New England Tel. & Tel. Co.	15.35
Sept. 1	0 - 0 4
State of New Hampshire, O.A.A.	85.94
Public Service Co., lights	2.71
New Eng. Tel. & Tel. Co.	15.35
William H. Nehring, spraying bushes	440.00
William H. Nehring, spraying bushes	110.00
Oct. 6	
Page Printing Co., poll tax bills	11.07
Public Service Co., lights at fire & town house	3.19
State of New Hampshire, O.A.A.	91.75
New Eng. Tel. & Tel. Co., phone at fire and	04.00
town house	16.55
	10.00

Town of Barrington	45
Town of Northwood, cold patch	72.00
Town of Northwood, trucking cold patch	13.60
Thomas Saulnier, sweeping Beauty Hill Rd.	40.00
Carroll Bailey, 4 hrs. labor on cold patch	3.60
Norman J. Berry, blasting and grader	296.38
Thomas Saulnier, work on roads	84.30
Ralph Swain, work on roads	74.10
Harold R. Taylor, telephone calls and paper	3.33
Hazel Rowell	28.00
Rowell & Watson, cleaning fire house furnace	4.00
Pauline Hayes, part salary	30.00
Oct. 25	
John W. Morrison, insurance on fire truck	40.00
School Board	5,000.00
	1
Nov. 3	100.00
Robert Parshley, W-grader	188.90
Norman J. Berry, grader	664.80
Harold Stiles, Class V	29.70
Alberton Berry, Class V	29.70
Maurice Caswell, Class V	29.70
Town of Northwood, Class V	29.70
Ralph Swain, Class V	35.10
Irving Gray, Class V	29.25
Lloyd Saulnier, Class V	40.50
Thomas Saulnier, Class V	40.50
Ralph Swain, gravel Class V	64.40
Public Service Co., lights	3.68
New England Tel. & Tel. Co.	16.35
Edson C. Eastman Co., tax coll. warrant book	19.22
Page Printing Co., tax bills	15.12
State of New Hampshire, O.A.A.	83.13
W. S. Swain, repairing	36.30
Dec. 1	
Hazel Rowell, tax yield	800.64

nazer Ko	owen,	tax yield			000.04
Firemen's	s Ass.,	insurance	on 2	1 men	21.00

State of New Hampshire, O.A.A.	83.13
Public Service Co., lights	3.84
Norman J. Berry, grader	24.00
Harold R. Taylor, postage, tel. calls, 1 day	
Class V	12.60
Merrimack Farmers' Exchange, road salt	46.50
Harold Flower, labor on gravel	34.65
Robert Drew, labor on road	8.55
Town of Northwood, truck on gravel	16.50
Thomas Saulnier, truck on gravel	97.50
Alberton Berry, truck on gravel	37.05
Lloyd Saulnier, truck on gravel	23.40
Ralph Swain, truck on gravel	15.60
Pauline Hayes, part salary	40.00
Hazel Rowell, postage and part salary	109.00
Katherine Henderson, salary	100.00
School Board, 1951-52 budget	10,000.00
Pearl H. Shaw, abate \$100 val.	3.34
Sarah Cummings, abate \$200 val.	6.68
Harold Flower, health officer and salary	55.00
December 12	
Strafford County Comm., county tax	3,690.28
Dec. 20	
Thomas Saulnier, W-truck on gravel	52.65
Robert Huckins, W-truck on gravel	42.90
Patterson Bros., W-2 trucks on gravel	117.00
Irving Gray, W-truck on gravel	58.50
Harold Stiles, W-truck on gravel	29.70
Alberton Berry, 2 trucks on gravel	69.30
Ralph Swain, W-truck on gravel	58.50
Town of Northwood, W-truck on gravel	21.45
Ralph Swain, gravel	120.00
Roy Smith, labor, use of chain saw	20.00
Dec. 31	
Public Service Co., lights	5.32

New Eng. Tel. & Tel. Co.	17.95
Tidewater Ass. Oil Co., fuel for fire house	3.49
State of New Hampshire, O.A.A.	88.13
Norman J. Berry, gravel, winter	718.05
Harold R. Taylor, labor on roads, telephone	
calls, salary	343.40
Hazel Rowell, salary	50.00
William A. Haley, labor on roads, salary	307.20
Warren Berry, labor on road	1.80
Pauline Hayes, salary	268.15
Arthur Howard, snow fence	36.00
Robert Parshley, snow fence	36.00
School Board, 1951-52 budget	18,000.00
W. S. Swain, sanding and snow removal	178.27
Barrington Library Association	100.00
Total	5 58,731.25

### **REPORT of SUPERINTENDENT of SCHOOLS**

### To the School Board and Citizens of Barrington:

The present organization of the schools is as follows:

Teacher	Grade	Pupils
Mrs. Ruth B. Ambrose	1, 2	25
Mrs. Mina F. Sanders	2, 3	39
Mrs. Sarah E. Huckins	4, 5	36
Mrs. Hazel M. Wasson	6	21
Mr. Carroll E. Mathews,		35
Principal	7, 8	
Total (increase of	18%)	156

Mr Bertram Colter Music Miss Myrtle Fletcher, R.N., Nurse

### District Tuition Pupils

Attending Austin-Cate Academy	2 ·
Attending Dover High School	21
Attending Spaulding High School, Rochester	23
Total attending high school	46

This year the downstairs emergency classroom has been enlarged. For the years ahead, the prospect is for some of the classrooms to be close to 40 pupils, with one next year having 43. Another classroom and a sixth teacher would relieve this overcrowded condition. As the city high schools become full on account of natural growth and possible defense activities, the tuition sending districts in the area may be constrained to build a cooperative high school in order to find accommodations. Some districts in the area are also without any elementary schools, while the facilities in others are inadequate. A cooperative district using the combined resources of several towns would doubtless continue to use local school plants that are modern and efficient, while providing additional arrangements to meet the needs. Such a cooperative district might include Durham, Lee, Madbury, and possibly Nottingham and Barrington. Any new facilities would be located conveniently to the area as a whole. The first step in such a plan would be for the district to petition the State Board of Education to lay out a cooperative district, subject to its later acceptance by the voters in each district.

The state aid this year is \$7,089.82, as against \$2,518.82 last year, making possible a decrease in the assessment for this year. High school tuition is the principal increasing cost item.

Last spring our teachers participated in the local Red Cross standard First-Aid class, in response to an urgent request from the state Civil Defense authorities. In April a Hobby Show was conducted with the help of the Parent-Teacher Association. Art productions of the pupils furnished decorations for the event. A health round-up of pre-school children was designed to assure their good physical condition for school entrance. The hunch program seems to be firmly organized and efficiently carried on by the joint efforts of the school board, P.T.A. and teachers, in spite of rising prices. The thanks of the district are due to those who carry on the business affairs of the project, as well as to those who willingly volunteer for service in food preparation.

The regular classroom work calls for constant ingenuity on the part of the teachers to keep their sizeable groups interested in profitable work suited to individual needs and abilities, while the special programs at Christmas, graduation, and other observances furnish extra incentive for unusual efforts.

# HONOR ROLL OF PERFECT ATTENDANCE

### FOR ONE YEAR

Rita Treble, Gerald Arnold, Joseph Cook, George Calef, Herbert Faist, Clayton Savard, Madiline Wells, Beverly Gaunya, Dawn Foster, Shirley Landry, Lawrence Robie, Bruce Turner.

Respectfully submitted,

CHESTER W. DOE.

January 21, 1952

.

.

•

# BARRINGTON ANNUAL SCHOOL BUDGET, 1952-1953

# EXPENDITURES

EXPENDITURES	Expend 1950-51	Estimate it's Expendit' 1951-52	
Salaries of district officers Superintendent's salary (local	\$ 233.00	\$ 203.00	<b>\$</b> 203.00
share) Administration	317.34	560.36	445.18
Tax for state wide supervision Salaries of other administra-	416.00	430.00	422.00
tive personnel Supplies and expenses	210.90	$\begin{array}{c} 30.00\\ 210.00\end{array}$	184.89 210.00
Instruction			
Elementary teachers' salaries Books and other instruction	11,299.50	12,050.00	12,775.00
aids, elementary	445.42	500.00	450.00
Scholars' supplies, elem.	518.48	525.00	525.00
Supplies & other exp., elem.	\$4.69	150.00	125.00
Operation of School Plant			
Salaries of janitors, elem.	1,320.00	$1,\!450.00$	1,500.00
Fuel or heat, elem.	678.04	800.00	800.00
Water, light, supplies and expenses, elem.	674.25	650.00	675.90
Maintenance of School Plant			
Repairs and replacements, elem.	290.84	500.00	500.00
Auxiliary Activitics			
Health supervision, elem.	654.68	660.00	675.00
Transportation, elem.	5,500.00	8,200.00	8,200.00
Tuition, high	8,604.86	$10,\!603.92$	14,158.00
Special activities and special			
funds, elementary	100.00	100.00	100.00
School lunch, elem.	1,841.87	200.00	200.00

D

.

Fixed Charges	Expendi 1950-51		Recom- mended Budget 1952-53
Teachers' retirement, elem.	776.20	824.92	\$47.01
Insurance, treas. bonds & exp.	158.18	158.18	158.18
Contingency fund		1,140.28	500.00
Total current expenses	\$ 34,124.25	\$ 39,945.66	\$ 43,653.56
Capital Outlay			
Additions and improvements	277.00	200.00	200.90
New equipment, elem.	230.35	200.00	400.00
Total capital outlay	507.35	400.00	600.00
Debt and Interest			
Principal of debt	1,000.00	1,000.00	1,000.00
Interest on debt	202.50	172.50	142.50
Total debt and interest	1,202.50	1,172.50	1,142.50
Total expendices or school	ol		
appropriation	\$ 35,834.10	\$ 41,518.16	\$ 45,396.06
Bal. (actual or est.)	\$ 3,533.17		

### RECEIPTS

Receipts 1950-51	Estimated Receipts 1951-52	Recom- mended Budget 1952-53
\$ 690.80	\$ 3,533.17	\$ 600.00
2,518.82	7,089.82	7,000.00
1.641.87		
141.26	32.25	
4,992.75	$10,\!655.24$	$7,\!600.00$
\$34,374.52	\$30,862.92	\$37.796.06
\$39,367.27	\$11,518.16	\$45,396.06
	1950-51 \$ 690.80 2,518.82 1,641.87 141.26 4,992.75 \$34,374.52	Receipts 1950-51         Receipts 1951-52           \$ 690.80         \$ 3,533.17           2,518.82         7,089.82           1.641.87         141.26           32.25         4,992.75           4,992.75         10,655.24           \$34,374.52         \$30,862.92

### 1952 SCHOOL WARRANT THE STATE OF NEW HAMPSHIRE

### To the Inhabitants of the School district in the town of Barrington, qualified to vote in district affairs:

You are hereby notified to meet at the School House in said district on the 10th day of March, 1952, at 8.00 o'clock in the afternoon, to act upon the following subjects:

1. To choose a Moderator for the coming year.

2. To choose a Clerk for the ensuing year.

3. To choose a Member of the School Board for the ensuing three years.

4. To choose a Treasurer for the ensuing year.

5. To determine and appoint the salaries of the School Board and Truant Officer, and fix the compensation of any other officers or agent of the district.

6. To hear the reports of Agents, Auditors, Committees, or Officers chosen, and pass any vote relating thereto.

7. To choose Agents, Auditors and Committees in relation to any subject embraced in this warrant..

8. To see what sum of money the district will raise and appropriate for the support of schools, for the salaries of school district officials and agents, and for the payment of statutory obligations of the district, and to authorize the application against said apropriation of such sums as are estimated to be received from the state equalization fund together with other income; the school board to certify to the selectmen the balance between the estimated revenue and the appropriation, which balance is to be raised by the town.

9. To see what sum of money the district will vote to raise and appropriate for additions and improvements.

10. To see what sum of money the district will vote to raise and appropriate for new equipment.

11. To see if the district will vote to petition the state board of education to become a member of a proposed cooperative school district.

12. To see if the district will vote to raise and appropriate the sum of 1,142.50 for payment of principal and interest on the debt.

13. To transact any other business that may legally come before the meeting.

# ANNUAL REPORT OF DISTRICT TREASURER

Fiscal Year Ending June 30, 1951

Cash on hand June 30, 1950	Þ	690.80
Received from selectmen:		
Current appropriation\$ 32,572.02Special appropriations1,802.50Received from State Treasurer4,160.69Received from all other sources141.26	\$	38,676.47
Total amount available for fiscal year Less School Board orders paid Balance on hand as of June 30, 1951		39,367.27 35,834.10 3,533,17

JANET M. VARNEY,

District Treasurer.

### AUDITOR'S CERTIFICATE

This is to certify that we have examined the books. vouchers, bank statements and other financial records of the treasurer of the school district of Barrington, of which the above is a true summary for the fiscal year ending June 30, 1951 and find them correct in all respects

> IRENE H. CALEF, HAROLD E. FLOWER,

> > Auditors.

### DETAILED STATEMENT OF RECEIPTS

Sept.	1,	School Board, telephone calls	\$ 1.75
Sept.	20,	School Board, town of Barrington	2,500.00
Sept.	10,	Cater-Decatur Family 75th reunion	
		donation	10.00
Oct.	11,	School Board, Town of Barrington	3,000.00
Nov.	16,	School Board, Town of Barrington	$5,\!000.00$
Dec.	14,	School Board, Town of Barrington	10,000.00
Dec.	14,	State of New Hampshire	2,518.82
1951			
Jan.	10,	Centennial Grange, donation	50.00
Jan.	25,	School Board, Town of Barrington	6,000.00
Feb.	20,	School Brd., Town of Madbury tuitio	m <b>77.91</b>
Apr.	25,	School Board, Town of Barrington	$7,\!874.52$
June	30,	Chester Doe, Concord Chapter A.R.C	
		textbook supplements returned	1.60
June	30,	State of N. H., school lunch program	1.641.87
•	Fota	d receipts during the year	\$38,676.47

# FINANCIAL REPORT OF BARRINGTON SCHOOL DISTRICT

For the Fiscal Year Beginning July 1, 1950 and Ending June 30, 1951

### RECEIPTS

Ş	\$	$1,\!641.87$
		$2,\!518.82$
1,802.50	\$	34 374 59
	₩,	01.01 1.02
3.35		
10.00		
50.00		
	÷.	141.26
	\$	38,676.47
ıly 1, 1950		690.80
	\$	39,367.27
	32,572.02 1,802.50 3.35 10.00 50.00 77.91 dly 1, 1950	1,802.50 3.35 10.00 50.00 77.91 \$ s s s 1y 1, 1950

### PAYMENTS

	tration: -

Salaries of district officers:

Dorothy Berry, board	65.00
A. Harlan Calef, board	50.00

### TOWN OF BARRINGTON

Mary Drew, board		50.00	
Janet Varney, treasurer		25.00	
Bertha Ross, clerk		5.00	
Ralph Swain, truant		10.00	
Mattie Swain, census		20.00	
Irene Calef, auditor		4.00	
Harold Flower, auditor		4.00	
,			\$ 233.00
Superintendent's salary (local	share	e)	317.34
Tax for state wide supervision		, 	416.00
Supplies and expenses			210.90
Instruction:			
Teacher's salaries:			
Carroll E. Mathews	\$	2,800.00	
Mina Sanders		2,079.00	
Hazel Wasson		2,000.00	
Florys Smith		1,923.00	
Sarah Huckins		2,093.00	
Estha Coombs		292.50	
Substitutes		112.00	
			\$ 11,299.50
Books and other instructional	aids		445.42
Scholars' supplies			518.48
Supplies and other expense			84.69
Operation of School Plant:			
Salaries of janitors:			
George Treble	\$	225.40	
William A. Haley		1,094.60	
			\$ $1,\!320.00$
Maintenance of School Plant:			
Repairs and Replacement:			
George Treble, painting	\$	76.80	

Wm. Fearon, labor on black-		
board	10.00	
Harold Whitcher, lumber	4.83	
Joseph Wheeler, mowing grass	20.00	
Joseph Wheeler, cutting bushes	13.60	
William Fearon, repairing roof	7.50	
Harry Munroe, roofing	8.87	
Philip LeFlamme, repair. roof	10.40	
Robbins Auto Supply, stoker belt	1.66	
C. M. Rice Co., projector repair	27.41	
Earl Colby, labor & new locks	18.50	
Nat'l Brass Co., locks and keys	3.90	
E. S. Woodward, stoker repair	5.70	
Eli N. Marcotte, stoker parts	19.67	
Public Service Co., refrig. repair	32.00	
David Faist, mowing grass	20.00	
Miscellaneous	10.00	
	\$	290.84

### Fuel:

Eli N. Marcotte	600.04	
Strafford Co. Gas Co.	78.00	
		678.04

Water, Light, Supplies and Expenses:

Public Serv. Co. of N. H., lights \$	308.29
Boston Janitor Supply Co., supplies	6.14
M. F. Bragdon Co., soap	8.50
C. M. Rice Co., tissue	12.81
Calef's Big Store, paint, supplies	75.90
Bragdon Paint Co., sweep'g comp.	19.48
Continental Corp., supplies	2.00
Thos. B. Tupper, supplies	29.55
Ocean Forest Prod. Co., sweep-	
ing compound	30.00
Masury Young Co., floor wax	28.90

M. F. Bragdon Co., soap		9.15	
C. A. King Co., tissue		40.00	
Masury Young Co., floor wax		24.14	
Calef's Big Store, supplies		42.19	
4 · · · · · · · · · · · ·		\$	\$ 674.25
Auxiliary Activities:			
Health Supervision:			
Myrtle Fletcher, nurse	\$	568.50	
Supplies		86.18	
			\$ 654.68
Transportation:			
Raymond Bailey	\$	2,500.00	
George Wells	-1	3,000.00	
		8	\$ 5,500.00
Tuition:			* - ,
- Dover (Rate \$200.00)	\$	4,612.20	
Rochester (Rate \$155.80)		3,782.66	
Austin Cate (Rate \$210.00)		210.00	
·			\$ 8,604.86
Special Activities and Special F	und	s:	·
Warren Barry, painting			100.00
School Lunch: (Federal and dist	ric	t funds)	
National school lunch aid		1,641.87	
District appropriation		200.00	
			\$ 1,841.87
Fixed Charges:			
Retirement			776.20
Insurance, Treas, bonds and exp	ens	es	158.18
Capital Outlay:			
Additions and improvements to	bu	ildings:	
Robert Benner, painting		150.00	
Warren Berry, painting		85.00	
William Fearon, basement toi	let	42.00	
	_		\$ 277.00

New Equipment: W. J. Remick Co., basement toliet 225.00Miscellaneous 5.35\_\_\_\_\_\$ 230.35Debt and Interest: Principal on debt 1,000.00 202.50 Interest on debt \_\_\_\_\$ 1,202.50 Total payments for all purposes 35,834.10 Cash on hand at end of year, June 30, 1951 3,533.17 \$ 39.367.27 Grand total BALANCE SHEET JUNE 30, 1951 Assets Cash on hand June 30, 1951 \$ 3,533.17 Accounts due to district, Madbury 32.25Capital Reserves: Cash on hand 319.48 Total assets \$ 3,884.90 Net debt (excess of liability over

assets) 2,375.10 Grand total 6,250.00

### Liabilities

Bonds and notes outstanding	-6,250.00	
Total liabilities	$6,\!250.00$	
Grand total		6,250.00

8

### STATUS OF SCHOOL NOTES AND BONDS

Outstanding at beginning of year Payments of principal of debt		$7,\!250.00$ $1,\!000.00$
Notes and bonds outstanding at end of year	\$	6,250.00

### SPECIAL ACCOUNTS

### SCHOOL LUNCH FUND - RECEIPTS & PAYMENTS

### Receipts

National School Lunch		\$ $1,\!641.87$	
District general fund		200.00	
Receipts from sale of	lunches	$2,\!605.04$	
Other sources		86.50	
Total receipts Cash on hand July 1, Grand total	1950	 4,533.41 605.34	5,138.75
	7)		

### *Payments*

Food	\$ 4,122.32	
Labor	562.00	
Equipment	199.41	
Other	9.15	
Total payments	\$ 4,892.88	
Cash on hand June 30, 1951	245.87	
		$5,\!138.75$

### FIRE CHIEF AND WARDEN'S REPORT

The Fire Department responded to twenty-one calls for the year 1950 to 1951. Ten of these were chimney fires, five brush, two house and one barn fire, one car, one house trailer and one response to investigate a suspected arson setup.

One house trailer, one barn and one automobile were complete losses.

The interior of the Fire House was painted and an area around the outside cleared of brush and grade. A gas hot plate was also installed.

In the near future a campaign will be started to replace the present tank truck chassis.

SUMNER A. HAYES.

Chief.

### ONLY YOU CAN PREVENT FOREST FIRES

New Hampshire faces a real forest fire problem and challenge! To meet it successfully, New Hampshire and your community needs YOUR thoughtful and cooperative effort.

Continuously heavy lumbering operations following the hurricane has produced more than 4 billion board feet of lumber. This lumber helped win World War II, meet post war needs and now the current requirements for the Korean military action. But it has added nearly 900,000 acres of slash to our already sizeable slash problem.

When YOU fail to use needed precaution while burning in or near woodlandsWhen YOU fail to secure the required permit from your local forest fire warden before burning—

When YOU are careless in smoking near woodlands---

When YOU throw lighted cigars, cigarettes and matches from vehicles moving along the highway—

YOU are violating fundamental common sense and may easily contribute to a substantial and costly fire. Such conflagrations are possible because of the hundreds of thousands of slash acres throughout the state!

REMEMBER—the fire YOU prevent might be one which could conceivably burn YOUR property and harm YOUR community!

ONLY YOU and YOU can prevent forest fires!! Will you HELP!

### 1951 FIRE RECORD

Number	of fires	3
Acreage	burned	6
No. fire	permits issued	45

SUMNER A. HAYES, Forest Fire Warden.

.

# BARRINGTON PUBLIC LIBRARY ASSN.

### EXPENSES FOR YEAR 1951

April 26, Mildred Mansfield, Librarian	\$	25.00
April 26, Mattie E. Swain, ch. book com.		5.00
Sept. 24, George McDaniel, insurance		7.00
Nov. 29, Chester Ramsdell, labor		10.00
Nov. 30, Diamond Match Co. for building		
supplies		17.46
Nov. 30, Mattie E. Swain, for books		75.00
	\$	139.46
	7	
DIVITIDIN		

### RECEIPTS

Appropriated by Town	\$	100.00
Received from Barrington Woman's Club		25.00
Paid by Barrington Library Association		14.46
		120.40
	S	139.46

ROY V. SWAIN,

Treasurer.

Births Registered in the Town of Barrington for the Year Ending December 31, 1951

Birthplace cf Mothet	VI. N. H. M. H. H. H. H. H. H. H
Birthplace of Father	M. H. H. W. H. H. W. H. H. W. H. H. M. H.
Occupation of Eather	Farmer U. S. Air Force Paamster Praamster Minist
Residence of Parents	Barrington Barrington
Maiden Name of Mother Color of Parents	Pauline E. Beauchain Deris I, Brown Anna M. Drysdale Anna M. Drysdale Harriel C. Bruce Harriel L. Lowry Ruth E. Forrest Ethelyn Enerson Ethelyn Enerson Ethelyn E. Baker Dorothy E. Baker Dorothy E. Baker Jeannine R. Jaurent Jeannine R. Jaurent Jeannine R. Jaurent Jeannine R. Owheeler Jeannine R. Collins Beverly L. Anderson Mildred A. Deshan Mildred A. D
Name of Father	Ralph J. Boodey Richard M. Spaulding Herbert A. Stanley Warten C. Bower Rey W. Bulter, Jr. Rey W. Bulter, Jr. Charles H. Elijott Charles H. Elijott Geordon C. Tuck Glenn C. Gibb Geordon C. Tuck Richard Warren Geordon C. Tuck Richard Warren George R. Lenzi George R. Neaell Robalker Royal R. Neaell Royard R. Rowell Royard R. Patrowell Royard R. Patrowell Royard C. Hulme
Sex Liv. or Stillborn Vo. of Child Color	<ul> <li>ビスガイダイダイダイダイダイダイダイダイダイダイダイダイダイダイダイダイダイダイダ</li></ul>
Name of Child	Susan May Roterta Mae Everett Anthony Warren Cornell, Jr. Amote May Muchael William Dong Evelyn Dong Evelyn Dong Evelyn Donal Glenn Donal Glenn Donal Glenn Donal Glenn Donal Glenn Patrice Agnes Patrice Agnes David John William Henry, Jr. Daniel Roger Lynn Francis Regned Allen David Allen David Allen David Allen David Allen David Allen David Allen Deard Ann Stephen Taylor Stephen Taylor Stephen Taylor Stephen Taylor Stephen Leigh William Allan Stephen Taylor Stephen Taylor Stephen Taylor Stephen Leigh William Allan Stephen Taylor Stephen Taylor
Place of Birth	Rochester Exeler Rochester
Buth Date of	1950 1950 1951 1951 1951 1951 1951 1955 1955

# Marriages Registered in the Town of Barrington for the Year Ending December 31, 1951

Dαte of Ματτίαge	Place of Marriage	Name and Surname of <b>G.oo</b> m and Bride	Residence of Each at Time of Marriage	Age in Years	Occupation of Geo m and B ide	Place of Birth of Each	Name of Parents	Birthplace of Parents	Name, Residence and Official Station of Person N Whom Married
1951 Apr. 7	Apr. 7 Madbury, N. H.	Stephen R. Ward Dorothy A. Norman	Barrington Madbury	16	Truck Driver Rose Packer	New Hampshire New Hampshire	John Ward Dorothy Rogers Lewis Norman	Maine Minnesota New Hampshire	1 Hattie D. Badger Madbury, N. H.
May 4 I	Muy 4 Dover, N. H.	Alexander J. Johnson Evelyn M. Bryson	Barrington 2	45 39	Fireman Factory Worker	Massachusetts New Hampshire	Loroury Doage Ernest F. Johnson Lulu P. Hogle George A. Green		<ul> <li>2 Ralph S. Huffer</li> <li>2 Dover, N. H.</li> <li>2 Clergyman</li> </ul>
May 12	Gənic, N. H.	Alfred E. Plourde Louise L. Chapdelaine	Barrington Gonic	27	Labcrer Shoeworker	New Hampshire New Hampshire	Lulla Waterhouse Alfred J. Plourde Olivine Dalphe Rene J. Chapdelaine	New Hampsnire New Hampshire Canada Canada	Robert Vellefeuille Gonic, N. H. I Catholic Priest
May 26 S	So. Berwick, Me.	Albert R. Gaunya Leona E. Watts	Barrington So. Berwick, Me.	19	c.	New Hanıpshire New Hampshire	Elzire Plamondon Roswell Gaunya Lillian Bonneau Archie H. Watts	Canada Connecticut New Hampshire Maine	1         William Lem           20. Berwick, Me.
May 30 I	Dover, N. H.	William F. Garvey, Jr. Rita M. Hodges	Barring'on Dover	11 White	White Student	New York New Hampshire	William F. Garvey Florence E DeMeritt George W. Hodges	New Hampshire New Hampshire Canada	1 Charles J. Leddy Dover, N H. Catholic Clergyman
June 30 F	Barrington	Robert L. Gray Marilyn E. Stacy	E. Rochester Barrington	20 A 18	Weaver At Home	New Hampshire Massachusetts	John F. Gray John F. Gray Edythe M. Langmaid Earle C. Stacy	New Hampshire New Hampshire Massachusetts New Hampshire	1George J. SchillingRochester, N. H.1Clergyman
Aug. 11	Aug. 11 Somersworth	Vern V. Varney Natalie E. Babb	Barrington Somersworth	21 18	Truck Driver Clerk	New Hampshire New Hampshire	Carroll Varney Marion E. Norman Guy S. Babb	New Hampshire New Hampshire New Hampshire Menderente	1 Theodore B. Hadley Somersw orth, N. H. 1 Clergyman
Aug. 31 E	Barrington	Richard P. Gordon Esther E. Neal	Somersworth Barrington	28 20	Butler Dipper	New Hampshire New Hampshire	George Gordon Maxine S. York Unknown	New Hampshire	1 William A. Binkley Northwood, N. H. 1 Clergyman
Sapt. 6 I	Barrington	William E. Mace Theresa H. Lauze	York, Me. York, Me.	28 23	Laborer Beamer	New Hampshire Massachusetts	Vira E. Neal Ralph A. Lauze Alice B. Dion Unknown Unknown	New Hampshire New Hampshire New Hampshire	2 Henry W. Locke Barrington 1 Justice of the Peace

Dealing nedisiered in the rown of Datimigion for the real mining December 01, 1001	Usual Name of Maiden Name Disease or Residence Father of Mother Cause of Death	Jong Beach, Me. Walter S. Grover Fannie Young Cardiac Failure Madbury N. H. William J. Sanders Harriet Huckins Coronary Thrombosis Martha Ferneld Arteriosclerosis Martha Ferneld Arteriosclerosis William J. Sanders Susan Bqker Disase Autoriosclerotic Heart Archives Disase Autoriosclerotic Heart Arteriosclerotic Heart	William Thompson Eliza Philgate George T. Brown Bilia Wetchouse Lewis N. Smith Elizabeth S. Locke Asa Stiles	arrington Gardner Tibbetts Mary J. Meader Apoplexy arrington Daniel Hall Nellic Caverly Tuberculosis Sollingsford William Matox Sarah J. Dacis Coronary Thrombosis John F. Rollins Mary Bartlett Lowerton Coronary	John Rutherford Ellen Cassidy Oliver Locke Eliza Daniels	
I FIIMING December 21		er lers lers	5			 Mary A
	Usual Residence	Long Beach, Me. Madbury, N. H. So. Berwick, Me. Madbury Madbury	Barrington Barrington Barrington Barrington	Barrington Barrington Rollingsford Barrington	Barrington Acton, Me. Rochester	Barrington Barrington Dover, N. H.
TTOI STITTING	Sing, Mar, Wid. Occup	W Hotel Operator W Ehamer W Ehae Worker M Farmer M Housewife	M W Farmer M M Laborer M 20 Farmer ss. M 7	W Housewife M Woodsman M Belt Maker S Housework	M Salesman M Farmer W Housewife	S Retired S Teaching W Seamstress
-	Sex Color	しきてて	hite bite	W IIA		
O ITMOT OTTI	Place of Birth	Barrington M Madbury M Dover M Madbury M Boston, Mass. F	Barrington Barrington Barrington Lunenberg,Ma F Brownfold	Barrington Brentwood Dover, N. H.	Eastport, Me. M Acton, Me. F	W. Orange, N.J. F W. chester
	Age in Yrs.	78 87 87 87 81 81 81 74 74	82 80 80 80 80 80 80 80 80 80 80 80 80 80	77 70 900	57 82 82	82 67 67
n natalerfatt et	Name and Surname of Deceased	Harry C. Grover Frank W. Locke Frank W. Locke Charles G. Sanders Pearl P. Ross Elizabeth A. Ham	H. Tilghman Thompson William H. Brown Lewis Smith Walter Stiles	Walter F. Hall Willam H. Mattox Hannah B. Rollins	Ierome J. Rutherford Bert A. Locke Addie Foss	Isabell Stone Georgie Iones Ralph Decatur Maude L. Swain
הפתוז	Place of Death	gton gton ry port, Conn.	Barrington Barrington Rochester Barrington Barrington		Barrington Acton, Me. Concord, N. H.	Concord Barrington Dedham, Mass. Dover
	Death Date of	1951 Jan. 3 Berwic Jan. 4 Barrind Jan. 5 Dover Jan. 10 Madbu Jan. 22 Exeter Mar. 1 Bridge	Mar. 29 May 2 May 18 May 27		Aug. 16 Aug. 30 Oct. 29	Nov. 17 Dec. 2 Dec. 14

Deaths Registered in the Town of Barrington for the Year Ending December 31, 1951

